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05 RIZHRI & 3 6,429 4,825 1,604
[0 S3HMAESETINS0H(BIRH)
6,429,000& * 14 6,429
= 4,500
< 579
Al 1,350
ZOHQ DEXE ALY 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
11T M SRASEEX 20,000 20,000 0
O ZoHel NEXIAY 20,000,000& * 14! 20,000
HOHAANE2E XA 3,622,137 3,445,118 177,019
< 462,056
Al 3,160,081
O BSAIER2S 310,584 250,107 60,477
= 47,591
Al 262,993
307 glz2+ol & 310,584 250,107 60,477
< 47,591
Al 262,993
10 ALSISXAIEEE 22X 310,584 250,107 60,477
O Ze =2AESAE 2F
155,292,000& = 200 & 310,584
< 47,591
Al 262,993
T=HSHHEHZ2Y 216,929 186,796 30,133
< 36,878
Al 180,051
307 glz2+ol & 216,929 186,796 30,133
< 36,878
Al 180,051
10 AL SXAIEEE 22X 216,929 186,796 30,133
O =00s2dH 22 216,929,000 * 1042 216,929
< 36,878
Al 180,051
ZOHUMEQSANALHZ L 220,806 176,290 44,516
< 44,161
Al 176,645
307 21201 A 220,806 176,290 44,516
< 44,161
Al 176,645
10 ALSISXAIEEE2GHEX 220,806 176,290 44,516
O QU MEOsXNEMUH 2
220,806,000& * 104 220,806
= 44,161
Al 176,645
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FHUSE=AN22Y 1,193,231 1,133,000 60,231
< 18,571
Al 1,174,660
307 gl2tol & 1,193,231 1,133,000 60,231
< 18,571
Al 1,174,660
05 BIZHRI & 3 1,193,231 1,133,000 60,231
O Zoesg=sis 29
1,193,231,000& * 1JH A 1,193,231
< 18,571
Al 1,174,660
ZOHASXAIE S A A== 193,200 193,680 A 480
< 57,965
Al 135,235
301 LeHBAF 193,200 193,680 A 480
< 57,965
Al 135,235
12 J|EtE &= 193,200 193,680 A 480
O =TAE SALR =&
193,200,000 * 14 193,200
< 57,965
Al 135,235
SSZMHAXNEEXNZLAHZ2SE 205,000 180,000 25,000
< 41,000
Al 164,000
307 21201 A 205,000 180,000 25,000
< 41,000
Al 164,000
05 BIZHRIE& 3 205,000 180,000 25,000
O SSZMHUNEXNZHH 2
205,000,000& * 14 205,000
< 41,000
Al 164,000
STSEMHANSNILNH2E XA 40,500 7,500 33,000
201 Let24d]| 7,500 7,500 0
01 At 2teltl 7,500 7,500 0
O SZSZMHY NS XNJME X2
7,500,000 * 14l 7,500
405 TtabH S| 33,000 0 33,000
01 et EFH S 33,000 0 33,000
0 =g sgx 2 33,000,000& * 14 33,000
ZOHASHIHF=ANERZ2 L 324,281 283,505 40,776
< 64,856
Al 259,425
307 glz2tol & 324,281 283,505 40,776
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= 64,856
Al 259,425
10 MM SAANEEHESIGHEX 324,281 283,505 40,776
[0 HOHQ SHIAHF=AE 89
324,281,000 = 14 324,281
& 64,856
Al 259,425
HOHAHFAIER2Y 504,317 468,541 35,776
& 100,863
Al 403,454
307 2iz2to| & 504,317 468,541 35,776
& 100,863
Al 403,454
10 MM SAANEEHESIGHEX 504,317 468,541 35,776
O HHAHFALE 29 504,317,000 = 14! 504,317
o= 100,863
Al 403,454
O HFALEO 2 QHWE 3,000 3,086 N\ 86
& 900
Al 2,100
307 QI2t0| ™ 3,000 3,086 A\ 86
& 900
Al 2,100
11T A EXAIEEX 3,000 3,086 86
O HOMAAHNF=AE0EX AHADE
3,000,000 = 1A 3,000
o=} 900
Al 2,100
QX ATHEANE 2 370,289 348,793 21,496
= 46,271
Al 324,018
307 giztol A 370,289 348,793 21,496
= 46,271
Al 324,018
10 A SXNANEEESIGHEX 370,289 348,793 21,496
O HOQ &Y HEALE 29
370,289,000& = 14l 370,289
& 46,271
Al 324,018
ZojelEXN22d9 X 22,000 195,400 A 173,400
402 SI2FXHE0| & 22,000 113,400 A 91,400
03 212t EF AN HI 22,000 113,400 A 91,400
O JIsE22 A I 22,000,000& * 14! 22,000
NI HFAIAE EIAX ANHMHMEHEZ XA 10,000 10,000 0
=} 3,000
Al 7,000
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301 LEd = 10,000 10,000 0
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O B HFAIE 4K NSMEHHZ XS
10,000,000& * 1H 10,000
< 3,000
Al 7,000
ZOHA=SRAIE 22l 8,000 8,420 A 420
201 Let249] 8,000 8,420 A 420
02 =24l 8,000 8,000 0
O A& EHI =Xl 8,000
O ZoHel EXIAIE 2= 8,000,000& * 14 8,000
A MA &K 216,492 241,942 225,450
ZOH QI EH X 2 AFSE TH & 188,132 182,822 5,310
201 Let2d| 46,612 50,402 A 3,790
01 At 22l 8l 34,055 33,195 860
0 get=2Hl 19,375
O e Xsxt EX
1,000& * 2,00004 2,000
O Zojol2a S Ale &I M
100,000& * 259 2,500
O ZOHQ Xtg SA & A e w=s
1,000,000& * 13| 1,000
O AXM &€& S5 S A
2,000,000& = 14 2,000
O 8% 2 22 M2 100,000& * 203 2,000
O EIMPININ 228 P2 8,425
=80 £ 2 =
1,200,000& = 1CH * 62l 7,200
ZEHI EW & EH
350,000& = 104 = 33l 1,050
mA EY 175,000& = 104 = 13l 175
O #EZAMRINI =&Hl 1,450,000& * 14 1,450
O Zse=EXtE es+=+2 N
4,000& = 750A 3,000
0O 2g+¢ 7,280
O Zoe ==X oS A=Y
70,000& = 8% = 123/ 6,720
O ZO BoAAE X HARARZ &AL
= 70,000& * 8% = 13 560
0O Sl 4,400
O Zofel Hd2=& 88,0008 * 58 » 110 4,400
02 =224l 12,557 17,207 A 4,650
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202 oddl 12,400 15,000 A 2,600
01 = LH o4 1l 12,400 15,000 22,600
0 ZoHel =X ge=w
20,0003 = 5 » 96 9,600
[ ZOoHQl A &0 80,000& = 5% » 7¢ 2,800
301 LEAZ 7,020 7,020 0
09 SALAHIXAS 3,180 3,180 0
0O &= ZO0HQ THE AL &K 24
60,0003 = 409H 2,400
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11 AMSSIAIEE S 62,100 11,700
0 =S A4 200 #AH(XME
o el) 3,500,000& = 14 3,500
O XNdEe =208 294
6,700,000& = 14 6,700
O ZHeRI2s =208 23
6,700,000& = 14 6,700
[ otLtM & &e 893 2,000,000& = 14 2,000
O nsde =208 29
5,700,000& * 14l 5,700
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5,700,000& = 14l 5,700
0O &8 XEoo g g At
3,000,000& =« 14 3,000
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3,700,000& = 14 3,700
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202 Odl 2,400 2,120 280
01 =2 LHAYI 2,400 2,120 280
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1A SXIAMEE XS 20,000 15,000 5,000
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< 30,000
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O ZOHIMNEXNJMEH 22
150,000,000& * 1JH £ 150,000
< 30,000
Al 120,000
NMEBOHQ HAAL A4S 130,000 134,000 A4,000
< 26,000
Al 104,000
307 glz2tol & 130,000 134,000 A4,000
< 26,000
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11T M Z2RASEEX 130,000 134,000 A 4,000
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130,000,000 * 1JH 2 130,000
= 26,000
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st EEussH 2N 46,000 43,200 2,800
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11T AIS S XAEE = 46,000 43,200 2,800
(0 DEAX SEDSHE 2IX 2
46,000,000& = 1CH 46,000
NHEHHLE NS XNALMEHZ S 65,000 65,000 0
< 13,000
Al 52,000
307 21201 A 65,000 65,000 0
< 13,000
Al 52,000
11 ALS S XAEE X 65,000 65,000 0
O XNMEOHQY AU XNJMEH 2
65,000,000& * 1JH 4 65,000
< 13,000
Al 52,000
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307 gl2tol & 56,000 56,000 0
11T ALSI S XAEE X 56,000 56,000 0
O Zezd2sXJde X
56,000,000& = 14 56,000
LLHH FAESMHHAXE 211,464 67,675 143,789
= 148,024
< 19,032
Al 44,408
307 21201 A 211,464 67,675 143,789
= 148,024
< 19,032
Al 44,408
05 BIZHRIE 3 211,464 67,675 143,789
O g2z FALSAHUL N
211,464,000& * 14 211,464
= 148,024
< 19,032
Al 44,408
LA LS SSMHUAXR 246,122 51,270 194,852
= 172,285
< 22,151
Al 51,686
307 21201 A 246,122 51,270 194,852
= 172,285
< 22,151
Al 51,686
05 BIZHRI & 3 246,122 51,270 194,852
[ 2 == MHHA X2
246,122,000& * 14 246,122
= 172,285
< 22,151
Al 51,686
AXMEOHC SIS A 50,000 50,000 0
= 10,000
Al 40,000
307 21201 A 50,000 50,000 0
= 10,000
Al 40,000
11T A SXAIEE X 50,000 50,000 0
O XNMEOHQ A A
50,000,000& = 14 50,000
< 10,000
Al 40,000
A SEEF SHI| EXAE 1,500 30,800 229,300
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207 A O & | 22,000 0 22,000
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[0 EQAE 924 20,000& = 3% » 60 3,600
206 TH 2 Hl 112,800 112,800
01 X2 Hl 112,800 112,800
O 3t&E |54 112,800




AN ALEI =X B
I ZAMAE 25 2
2

Sl BHSIY ol CERED
- _ — d =
SN EA(SA) - MEAY - BES 0l &t o il Bl R &2
O SR(LEAA L HESIZS, AHROH)
402 = 504 * 2,400 112,800
301 LEdZ 7,000 7,000
12 JIEBHE4 = 7,000 7,000
O st¥&Eeas 350,000 = 4% = 5 7,000
401 Al HIZ 201 8] 70,000 70,000
01 A& HI 70,000 70,000
O st&Ez 2= 70,000,000& = 14 70,000
405 THabH S 5,000 5,000
01 HAHEBHS 5,000 5,000
O3 =5 5,000,000& * 14l 5,000
HAAIE EX A 1,448,955 1,448,955
= 1,000,000
= 214,286
Al 234,669
SEEAMAE A (XA) 15,240 15,240
201 ¢er24l 11,640 11,640
01 At 22l 11,640 11,640
0O et=2tl 9,000
O SSEMAME 2E E22 & 3ANE S
M= 1,000& = 2,5008 » 28 5,000
Oz s1d= 2,000,000& = 23l 4,000
O =&l 2,640
O LoAL A2EX
8,000& = 3% » 110 2,640
202 oddl 3,600 0 3,600
01 = LH o4 1l 3,600 0 3,600
[ SEEAMAIE 28 =&
20,0003 = 3H » 60 3,600
SETZAAE AE 1,433,715 0 1,433,715
= 1,000,000
< 214,286
Al 219,429
401 Al HIZ 201 Y] 1,433,715 0 1,433,715
= 1,000,000
< 214,286
Al 219,429
01 A& HI 1,428,572 0 1,428,572
O XNAEX =4 1,428,572,000& * 14! 1,428,572
= 1,000,000
< 214,286
Al 214,286
03 A2 2 0HHI 5,143 0 5,143




SH: ASI =X D
HE: BANE 25 2el

SR FAMAE EXAY (&)
- _ — d =
SN EA(SA) - MEAY - BES 0l &t o il Bl R &2
0O SEHEAMAE HE
1,428,572,000& * 0.36/100 5,143
A 2L AU (AL S X1t 141,427 206,452 A 65,025
ol 2| 121,207 185,620 AB4,413
ol 2l (AtSI S X 1t) 121,207 185,620 A64,413
101 @124l 121,207 185,620 264,413
01 2= 121,207 178,576 A57,369
O =2 f=E 121,207
O NZe2R2Y
11,6343 = 16% = 50AI2t = 128 111,687
O g2 (32%)
80,000& = 18 » 119¢ 9,520
Jl=234l 20,220 20,832 AB12
Jl2dul(Atsl S X 1) 20,220 20,832 AB12
201 Let24d] 15,420 15,432 A2
01 At 22l 15,420 15,432 A2
0 Y8y 13,660
O HIMSRES 2 500,000& = 43| 2,000
O =EASX 7Y 30,0003 » 180 A 5,400
O 32X #s58& 15,000& * 7& = 12& 1,260
O U2=F HEM L A5 sANE R0
300,000& * 53 1,500
O g2oiz &0 oo ¢
50,0002 * 103 500
O AMRa 22HE 2 500,000& = 63l 3,000
0 2l 1,760
O MEEX HRFX
8,000& = 2% * 110 1,760
203 YR =&l 3,600 4,200 A 600
04 FN2IELSFTH| 3,600 4,200 A 600
O M2 =X 300,000& = 123 3,600
204 M FH| 1,200 1,200 0
01 HAZ LA HY| 1,200 1,200 0
O M3 =X 2% 100,000& * 12& 1,200
MWEES(AISX ) 50,000 100,000 A 50,000
WHEHHXZ 50,000 100,000 A 50,000
WEHH K= (AL E X ) 50,000 100,000 250,000
702 013HES 50,000 100,000 A 50,000
IS8 E3 50,000 100,000 A50,000
0O L=X213 50,000,000& * 14l 50,000






